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PAPER - I

(3) Only (c) and (d) are correct.
(4) All are correct.

1. fumA: 9 A 1942 TS0 FUFR T HTES S, T - s s

faum B: ¥R wefiet e UM SeteEer goen
HE IIhd BT, (TSTAT T Udien : 2021)

(1) ASIS 377, B gehidl 3112,

(2) A3TfoT B &R 3.

(3) A 3T B 3.

(4) AN 37, B SIS 37T=d.

Assertion A : Japan carptured Rangoon on 9 th March,

1942.

Reason B : Japan Could attack Calcutta after its

Victory In Rangoon.

(1) Adisture, B is false. (2) A And B are ture.

(3) A and B are false. (4) Adis false, B is ture.
TEIGRU - IR F. 2

2. 8 ThEgawl 1943 TS YEcTucht ShivTen SaRI-T S
oF THT TATIA hedl gielt ? (VST T&A udien : 2021)
(a) TIGET TG TESH
(b) M T=sRW gl
(c) TRlEAETE] M. 8. XHE
(d) sf. 9T gt ore
wRf W
(1) ®a (a) ST (b) TS 3.

(2) e (b) M (c) SR 37T

(3) ®a (c) M7 (d) S 3.

(4) T TUSK 3772

Who from the following persongs estabilished the
Manav Dharma Sabha On 8 th February, 1843?
(a) Dadoba Pandurang Tarkhadkar

(b) Durgaram Machharam Mehta.

(¢) Lkhitwadi G. H. Deshmukh

(d) Dr. Bhau Daji Lad.

Answer Options :

(1) Only (a) and (b) are correct.

(2) Only (b) and (c) are correct.

MPSC -TiiuTTcH®S 997Hd

THaYH 99, 1843 (W) :

) E@WQ@TW,WW
o T :

> ST U T R 3R,

> STahl gE OH TR,

» T bl foaR S WA 3R,
> STtig e .

> frcaert fqderm@ STEE +Ud.

o Ty yrei=n feag : tfoam
o TEuTft SR ; fewolt v, Smitete, ToTaTH WIETS

3.

FegA? (TSerrET H&A udten : 2021)
(a) Tt foeepTe (b) 9. Heq HIgH A
(c) . g (d) TaTHt gaHe ST,
TR W

(1) & (a) FATO0 (b) STUST 3Ted.

(2) % (b) 3T (c) ST 37ed.

(3) % (a), (b) MMM (c) SRS M.

(4) e (a) 30T (d) S 34

Who from the following persongs were Not associated
with Hindu Mahasabha?

(a) Sawami Vivekanand

(b) Pandit Madan Mohan Malviya

(¢) Dr. Munje.

(d) Swami Dayanand Saraswati.

Answer Options :

(1) Only (a) and (b) are correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (c) are correct.

(4) Only (a) and (d) are correct.

WEIHRUT - TR 5. 4

sftge Wt fig wemwm, 1912 :
o ufgss Iafawm : 1915 (BfER)

b ;3 4 TReOTmIwie2021



/7 ()

o 3EHY : HIHM ST HERIS o sfwa (Iuwew) : faxg i

o &g mem@wRll frfed =ehl : wew Higd Wied ™, 1. 44, { @ ST THR (T.57®) : Ffterag qmd
Tt BSTaN. ® TIART : SHITITERT IHT Ut

® Logic : T TG Tedi=n 4o 1883 AL M3 AR, ( 5. qres wmer Weien wefiveem siel Wt #0129, 7
UM T 1915 1 T oo feg wEEwsl ey (TrTRre T uden : 2021

TR T (1) SHorETEs @3 (2) SHWE @
4. =IO A SETE HEETE qR U gt ? (3) THTIERTS GAIe (4) AU T
(mﬁmg@ruﬁm £ 2021) Who Was the Finance Minister In Bal Gangadhar
& Y fdiar of ) Kher's Ministry?
(2) - : T@ﬁ,ﬁ% tITqEHT%F ) (1) Annasheb Latthe
(b) . I . 9 (2) Shankarro Deo.
% ri IERID 3:“%: (3) Gangadharrao Deshpande.
(c) ETHTSIETEIE TGUATTSt TegtHcdl &Td> foresun (4) Achyutrao Patwardhan.
W’;%‘@%~ TEIGRU - IR F. 1

® o5 MER X 8 1937 A Yomd st e uquea
TS 9 3 R GET LG fSIfeRt WA= Horest
St fuened 7 geefia @era 1939 we TSt fob
® TTHR TATMT 19 I3 1937

(1) % (a) 3000 ()  (2) % (a) 37T (b)
(3) ®a (b) 3T (c)  (4) %K (a), (b) IO (c)

What were the important points in the Quit India

> ST AR (FSTHIETT)

FHIR THR /A(TEEhmR

ASYHAT 75T IR 1 ©2021

P« ¢

Resolution? o TR 7 Harve o (TeH afe) 6 Fed A R
(a) To remain in the slavery of the British is a sin for 2.
India. .
(b) India's freedom will inspire the contries in the :F;ﬁ : REET
continents of Asia and Africa that are staying under 1 EFIE e W | e
the salvery of the British. (FasreT) -
(¢) Indian freedom was necessary to prevent 2 | SRS B% a1
impreialism. 3 |%. . el T AT SHRIGR ol
Answer Options : 4 |um. g filest AU F I ek
(1) Only (a) and (c) (2) Only (a) and (b) 5 | RS gETs HEg®, A, U0 fohE
(3) Only (a) and (c) (4) (a),(b)and (c) 6 |wmeh ﬂﬁ TS STeehT J30t
VIR - SR 5. 4 7 |t W we | v @ gen
e § I TS 4. Tl 18& I TRig BiEl vrd
S WIS 9 =S TgHTH T e, 6. 9Ot RIS TG FHIUTA Feen ?
(TSerrET H&A udten : 2021)
I S BT (a) <fera laTd Wit BrARHET B S T
e 8 AT 1942 TSI
® WUl : (b) eferd emiemdl Sheia HrEreHsesa HEl S TEd
> oo oo arereret. EELEI
> FHMHS FHAN dTeBT Bl (c) o TS e A4
» UM ATHACTE T, TR I
o THIE AT TUHEG : (1) (a), (b) 31 (c)  (2) Wekd (a) 3T (b)
» TETHT e (o) (3) werd (b) HOM (c)  (4) e (a) 3T (c)
> TSiguETe (9eT) What were the provisions of the Poona Pact?

(a) To Keep certain reserved seats for the depressed
classes in State legislature.

(b) To reserve cretain seats for the depressed classes in

MPSC -G uTTcHS Y9FE
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the Central legislature.
(¢) These Provisions were not to be changed.
Answer Options :
(1) (a), (b)and (c)
(3) Only (b) and (¢)

(2) Only (a) and (b)
(4) Only (a) and (c)

TEIHRUT - TR 5. 2

Ul IR - 24 AR 1932
® THINTSAT TS :

» L FHECHSB FIUNU Haek Temdshl 18% ST
gfsarard! TEa FEdie.

» Yidieh HRICHSSA glosdiatat TREd T @& 71
TET 148 Fd ATefavaTa T

> U HaeREETT SR el

» Y TEE AT Taer Acmeis gfad adagr yum

7.

1924 WEA TG Yed SMeAER  Wefsht, .
TTITEATERY, T TS T T GEeTih ST
TG T 3T g 7 (TR YA et : 2021)
(a) &OSHMET IER 1.

(b) AT FTATH Gad v

(c) feramn 3gr .

(d) TSTHROTAIA IUSHATA HHT €Y.

TR 3

(1) % (a) 3T (d)  (2) B (a) O (b)
(3) ®ad (b) A (c)  (4) ® (c) M0 (d)
After their release from jail in 1924, Gandhiji, C.

Rajangopalchari, Rajaendra Prasad Kept themselves

busy with which of the following activities?
(a) Upliftment of Harijans

(b) Hand-spinning on charkha

(c¢) Upliftment of woman

(d) Participate in political activities.
Answer Options :
(1) Only (a) and (c)
(3) Only (b) and (c)

(2) Only (a) and (b)
(4) Only (c) and (d)

TR - IR B. 2

e T 1922 HEY WY Ui TYET AT, I T T

TR 1S,
1. Uy gfEdd gades
2. WUy iEdq fomef

o TS THYH Ul :

» A

MPSC -TiuTTcH®S 997Hd

\\

1. . R g™
2. TS 188
3. IS @M
> fem:
b faeraftaened SmwmE $ogs.
b T I TSR Fe B
> Iuceh :
b 1928 T ufchesr A®T fores =1 T,
b 1925 wed fugows W e sHrEierul e
TS,
b Soie TEelt T forieTa wagH.

o w{IST UREaA forielt :

> g :
1. fogows oo
2. Hi. qeETeERt
3. TSIgYdETR
4.  THU IFEW
> Iuceh :
P GGl AT T
P fég-Teim ThaTES! S
» Tt freror Tl TR,

3.

Y& ST hIvT FU et 3R, ?
(TrTrEET HET udien : 2021)

(a) T 1940 T 37 HLUATA A

(b) o TEA ¥ BLATGSTA Tt

(c) T 5 fedeR 1940 st drgvamd 31t

(d) 1943 7ed == @&t 3fd Tk et

Tl 3

(1) =R |t (2) TadsH <=

(3) g S (4) =AU AL

Who is described in the following sentances?

(a) He was arrested in Jyly 1940

(b) He went on hunger strike in prison.

(¢) He Has released on 5 ™ December 1940

(d) In1943, his attention was turned to the Far East.
Answer Options :

(1) Veer Savarkar (2) Chittaranjan Das

(3) Subhash Chndra Bose. (4) Acyutrao Patwardhan.

® SN :

® Tcel : 1919
e ICS 3T : 1920

4 Ragmiwie2021

> s



1.

IRfeR heiaTe 9 3T STeH! Trdiaran Jaiet g faem
T = (TrsoreaT gEA udten ¢ 2021)
(a) o T.3M.A. gaga ursht foameff amea.
(b) AT Y&TH USTe=AT 2022 WA Fetedl faeman
frerguehia 117 ¥kt 92 faepmft fostr s et
FhURI A faum /A 3fesEr -
(1) % (a) TUS
(2) % (b) s
(3) (a) 3T (b) GT-2T SR
(4) (a) 30T (b) St SIS AT
Consider the following two statements about Arvind
Kejriwal and Aam Aadmi Party :
(a) He is an alumni of IIT Mumbai.
(b) In the (2022) assembly elections held in Punjab, his
party won 92 of the 117 seats.
Select the correct statements from the above :
(1) Only (a) is right
(2) Only (b) is right
(3) Both (a) and (b) are right
(4) Neither (a) nor (b) is right
TEIGRU - TR F. 2

o 3T hoians

P S ;16 TR 1968 (TSt gfmom)
b Toregor : I, WUTR (.3, )
) TTehIT hIEhIS :
> usE (2022) ¢ W 3AeHt 9t - 92/117
> fegh .
2013 : 28/70
2015 : 67/70
2020 : 62/70
> T :
2022 : 4/40

g | TSAHAT T TRIET 2021
PAPER - II

(b) TH. fEUS 7 RPI & YoM 37e9eT B,

(c) THUST URye= T, 1948 TEY FTedl.

(d) @t HEE, =Wl EEYHe TEEd 7 TSy
gftwes 3 B,

FUAUH! IR HAH HIUA 3R 7

(1) ¥ (a) . (2) &4 (b)

(3) % (o) (4) =lierdeht el

Consider the following statements :

(a) The Republican Party of India was formed on 3rd
October, 1957.

(b) N. Shivraj was the first President of RPI.

(c) The Ramrajya Parishad was formed in 1948.

(d) Swami Karpatri, Swami Swaroopanand Saraswati
were leaders of Ramrajya Parishad. Which is the
incorrect statement from the above?.

(1) Statement (a) (2) Statement (b)

(3) Statement (c) (4) None of the above

WEHRUT - IR . 4

o Tufssera rdl 31w Sfean (3 affaieR 1957)
o TS : WA, e

) ISTEd EEH, SRS ®9a, T, S, UGN, g1 e,
. &, e,

2.

Weie? oM T8It &1 ¢ (Teereran q& udien @ 2021)
(a) YR froscfieh watr=hl oMo 3 SAfdaist, 1957
Tsft e,

MPSC -TiiuTTcH®S 997Hd

AR WRATAA SHIUTaT Ufgen Tehid Ul 3R S
TE U WU Al fHestelt g ?

(TrTEET T udien : 2021)
(1) Femet fyuey ordt (TA. . )
(2) AAfa Ife FARRE SHBHIH B (I,

ST,

(3) forsit et e (TH.TH.TH.)
(4) el SHishicsh Fifteg aréf (TA.€1dh.)
Which is the first political party from North-East India
to be recognised as a National Party?
(1) National People's Party (NPP)
(2) All India United Democratic Front (AIUDF)
(3) Mizo National Front (MNF)

b 9 4 TROTEIR2 02022
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(4) Nationalist Democratic Progressive Party (NDPP)

WHHRUT - FIRB. 1

o Y% Uiued Ul (NPP) :

P TITAT : 6 AR 2013

P TSI qeT FEU AT ¢ 7 S 2019

P T ;Y. W g

P IR TER u& WU ATl e afget urdl.

4.

YR TH — TE TeTiHTuTe T,
(T8 HET udien : 2021)

(a) I Thag g ARAIE FRMAS TEcTES
HEWH (THEE) = T 1976 T el

(b) T TEIH TATS el (FHAT) = T 1984 HE
et

(c) TSThIT | & AT HAT UTH S0 Telchg!
3R, 3 W 7 8.

(d) o gfera wifva wwr wod |t (.08, -%la) =
T B,

FUAUH! DIV HUA AT 3T 7

(1) % (a), (b), (d) (2) %6 (b), (), (d)

(3) & (a), (c), (d) (4) % (a), (b), (o)

Kanshi Ram -A proponent of Bahujan Empowerment.

(a) He founded The Backward and Minority
Communities Employees Federation (BAMCEF) in
1976.

(b) He founded the Bahujan Samaj Party (BSP) in 1984.

(c) He regarded political power as a master key to
attaining social equality.

(d) He was a founder of Dalit Shoshit Samaj Sangharsh
Samiti (DSSSS).

Which of the statements given above are correct?

(1) Only (a), (b), (d) (2) Only (b), (c), (d)

(3) Only (a), (¢), (d) (4) Only (a), (b), (c)

TEIGRU - IR F. 2

TEI T U

o LY : HINH
® 1978 U (IMEW®) The all india backward and minority

communities employes federation.

o TR HUAR! .
o 1982 T Gfesd MM TwTSl Ferd |,
® 1984 HIcH SESH HHIS T&IT= T

ASTHAT 7T 4R 2 ©2022

P s &

)

» Social Transformation and Economic Emancipation of

o fommEft :

Bahujan Samaj.

P STEf TSTh GERON W HTHTR GO,
» g wrsgre forie.

P eford Sreg S THU.
» qoehi o« &t
e HWAW :

BIRAHT TH ST At T4
1989 4 2.07% |d9omE
2004 19 5.33% | 3O0eH
2009 21 6.17% | weases
2014 0 4.19 -
2019 10 3.67% | 3TIeW
e e : (TrSTrEaT gEA udten ¢ 2021)

‘ HR GO A1 HIUCITE GTei T AT ?

(a) 3TcT Sfeam 28 (i) WA SHaT uet

RIEREEEpE (TSTIT)
(3TEeh)

(b) Ffeza Fome ¢ (i) WA SRR 9a
RERERIDE] (sTeriaTe)
(32)

(c) AR A ®E  (iii) WA HRI(EE 9&
(frm.wy.) (5t dt.31m3.)

(d) T I e (iv) WRdT TEE S|
e e (fag) (3T )

/" (3R)

T W
(@ (b) (¢) (d)

(1) (i) (i) (iv) (i)

(2) (i) (iv) (i) (ii)

(8) (i) (i) (iii) (iv)

(4) (iv) (i) (i) (i)

Match the pairs :

Name of Trade Union Associated with which party?

(a) All India Trade
Union Congress
(AITUC)

(b) Indian National
Trade Union
Congress (INTUC)

(i) Bharatiya Janata Party
(BIP)

(ii) Communist Party of
India (Marxist) (CPM)

MPSC -G uTTcHS Y9FE
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(3) Offences related to adulteration of food and drugs
(4) None of the above
TIEIRROT - IR . 4

43. S NEAH 28 oo ATAT HIVAT YATHED T Hich

FERATIA € Fehed-T HISUATd 31T ?
(TrSTrEET H&A udien ¢ 2021)
(1) Towards New Public Administration
(2
(3
(4
In which of these books did David Osborne and
Ted Gaebler introduce the concept of 'New Public

Reinventing Government
The New State

Dynamic Administration

—_— — ~— —

Management' ?

(1) Towards New Public Administration
(2) Reinventing Government
(3) The New State
(4) Dynamic Administration
TEIPRU - TR . 2
[ ﬁﬁﬁ’f"{ 71?67&[2 :
» = ufeseh HAeme
» sfegg /e s A=Al 1992 Al
“Reinventing Government’  IT  Y&hid AT

Heheu=dT 39 ST

» 1960 "= New Public Administration3GITd TS
3T I IR g8 TN T80 “‘New Public
Management’’ B,

> Sfegs i /3 e I “ufsses Hasme = 10
T |t 3ATed ot Wiy

Catalyfic government
Community owned govt.
Conpetitive govt.
Mission driven govt.
Result criented govt.
Customer driven govt.
Enterprising govt.
Anticipatory govt.
Decentralized govt.

0. Market criented govt.

» NPM @S STeiT foier shid.
1. TSRO AT ISIEH T Behd

SOENANA W~

2. Hierarchy.

3. Centralization.

4. Rigidity of rules.

5. R/igidity in procedural aspects.

ASTHAT 7T 4R 2 ©2022

P o &

)

NPM ¥ ®EC :

1. Decentralization

2.  GrEeh U WS

3. ORI GEIMT (Y T

4,  BIHIAEATAS SiebrE dTed] TEwT.

5. AT HEued guwom.

44, TFEQTENR UgaviRaur dgifass Areoht wawem wiof

heft ? (TrSTEaT gEA udten ¢ 2021)
(1) B H=EA (2) TT Ut Hicie
(3) 98I foemm (4) Hadt daT

Who had systematically theorized bureaucracy for the
first time?

(1) Herbert Simon
(3) Woodrow Wilson

(2) Mary Parker Follett
(4) Max Weber

TEIGRU - IR F. 4
o FUshelS YT : Hag Ja AT THA TSN A3,
Managers Jobs broken Positions
are career down into simple organised in a
professional not routine & well- hierarchy with
owners of units defined taks a clear chain of
they manage. T command
A A
Division of
labour
Career Authority
crientation * hierarchy
~ A bureaucracy
4| should have [
Impersonality + Formal
Selection
Formal rules &
regulations
\ 4 \
Uniform * People selected
application System of for jobes based
of rules and written rules on technical
controls not and standard qualification
according to operating
personalities procedures

45.

oo e siftePR @ ® i rETeda gehr

forem w7 (TrSTEaT gEA udien ¢ 2021)

(1) @ foreer SoFT Irferes StEal.

(2) @ Hh ARREAT HagrEaEdl fagus sifeee
.

(3) "gfiieh 3ot 9 3R ufiemfl YEf Hehehieiia
ST SHEEATIHTET @ STl

MPSC -G uTTcHS Y9FE
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the size of title area. and the municipal service.
being provided or praposed to be provided
by an industrial establishment in that area and
such other factor as he may deem by public

notification.

71. 74 T GEAGHRN HETTSAT HEHIA YICIUh! T

UM SR aR/A. 7 (TSTEE Y& udiet : 2021)

(a) I HEEIH TRATAT TEOUMEET 9T XI-A STSell
3.

(b) AT HETN VAT TAUHT IHE IHEE et

3.
TP IR
(1) & (a) (2) % (b)
(3) gt (4) wHgl A&

Which of the following statements is/are correct in the

context of 74th Constitutional Amendment Act ?

(a) The Act has added Part XI-A to the Constitution of
India.

(b) The Act has added Twelfth Schedule to the
Constitution.

Answer Options :

(1) Only (a) (2) Only (b)
(3) Both (4) Neither

TIEHIOT - I B. 2

74 aﬁm@wﬁw

243P

243Q TRUEEA T

243R ECEll

2438 are aftren

243T JTRETU

243U HIBEL

243V AT

243w | Tmutfeent TR TR @ R

243X £y

243Y forr s

2437 SETIRE

243ZA | TS fraEue SR

243ZB | €9 TSIGATSH! BN 3160

2437C | 3Ufaeh &= B A,

ASTHAT 7T 4R 2 ©2022

P 6 &

2437D | fSegr feq smam

()
2437ZE | HeWR e witd

2437F | fommm sre 9 TgEre Afedca el

2437G | FRTSATE AT HLATE TS,
o ImISSEU : 1 S 1993

o TiILMTT W [X-A =T THTAY HUATd 3TTAT.
o I HIEUH WHRATA UM 12 3 uRf3E T T <

T 18 fawr .
72. WA SEUH &7 Uifetehaae Wreie faem foemm
= (TrSerrET H&A udten : 2021)

(a) STAUI & UTfeTehl IR aHe faumTean 3.

(b) -1V BEvht & wferhued B IR qe= fragd
Y.

(c) w-TV BEvfl &% Tfciehaed TR AhEEAT & g
BN ITEIIUET S 3THd T

(d) SEvt &7 ufeleheal &I HREBR Afhr=r=h

IR I fag™ T 3med 7

(1) (b) T (c) (2) (@), (b) 3T (d)

(3) (a) 3 (c) (4) =t =

Consider the following statements about Cantonment

Boards in India :

(a) Cantonment Boards are divided into four categories.

(b) In category-IV cantonments, there are only four
members who are elected.

(¢) In category-IV cantonments, the civil population
does not exceed two thousand five hundred.

(d) The Chief Executive Officer of the Cantonment
Board is appointed by the Defence Minister,

Which of the statements given above are correct ?

(1) (b)and (c) (2) (a), (b)and (d)
(3) (a)and(c) (4) All of the above
TEGRUT - IR &. 3
e o

o HifSd A= AfIBR hg ATEAH TR,
® J[AT <h[Iql : Cantonment board act 1924 T§ & EEiE)
Cantonment Act 2006.

® Cantonments Act 2006 THR BEUT qgaN  ddfie
DIHECIZ IR 4 ufiae Ffientor hos T2

MPSC -G uTTcHS Y9FE



|. aNRAIdi® ATeld AJATelel faeh1A

Q-

1. WreiicTdeh! v AFE TETeH fermami aem s ?
(TrSTEaT gEA udien ¢ 2021)
(b) TSN

(d) ST T

(a) DI
(c) ST foep
() HHEiH TS T
TR I
(1) % (a)
(2) (a), (b) 3T (d)
(3) (a), (b), () AN (d)
(4) sleTehr wd
Which of the following are the means of Human
Resource Development ?
(a) Skill Enhancement
(b) Research
(¢) Development of Technology
(d) Entrepreneurship Development
(e) To develop efficient manpower
Answer Options :
(1) Only (a)
(3) (), (b), (e) and (d)
TS0 — IW . 4
o THE TuTEATE foshr MY e T Mgt wure
Eral.
® HIIcIAE, TIMEM, AT foehid, IeaTsehdl T,
Frie TIsaes faewm a1 9 aret g gifay g,
2. Weiieiiehl WRATAA  REGATITE! IR0l ShIUTd
A ? (TR A vl  2021)
(a) SHEL I JIEUdIer qohled
(b) feamerh TR
(c) &M = foamg

(d) wEufeTa

(2) (a), (b)and (d)
(4) All of the above

ISR 7T IR 3 ©2021

» 106 4

R W
(1) B (a) (2) (a) 30T (c)

(3) (@), (3T () (4) cHIcTIhr &l

Which of the following are the reasons for population
growth in India ?

(a) The difference between birth rate and mortality rate
(b) The universality of marriage

(c) Marriage at an early age

(d) Polygamy
Answer Options :
(1) Only (a)

(3) (@), (c) and (d)

(2) (a)and (c)
(4) All of the above

TS0 — I k. 4

o S M ogeuicics Ahied, BeM 991d {818, agufcicd
TNy foare dOeRe  STEUERAl YSiS
BIHETETE BId.

(a) ST I PoIeX T TS &1 ARG 76! AToIes!
SArhEE R 3Tad. (TeTreen g uden ¢ 2021)

(b) THE ST 3T I i STAT qeqT ATREET
Ted.

(c) TR S M0 THel HHl A ARSI
it B,

(d) PR <A AT Jg1 0T FE 7

et v faem ghm a2

(1) (2) 37 (d) (2) (a) 37 ()

(3) @), @3 (@) (4) b T

(a) Population is stable when mortality rate and birth
rate are the same.

(b) Population increases when birth rate is high and
mortality rate is low.

(c) If the morality rate is high and birth rate is low, then

the population decreases.

MPSC -Ti 0T Y9FE



> \\

(d) The growth and decline of population of any country | o ﬁT{[ T R : 30 YeIT HHT L.

depends on the birth rate and mortality rate. ® TEfeh U I1ed i,
Which of the statements given above are incorrect ? ® T %ﬁl Hhoudo! UIcHed 3 TR TG (TFR)

(1) (a)and (d) (2) (a)and(c) Repacement level SHHT .
3) (a),(c)and (d) (4) None of the above 5 ot R R /Erd e/ 9
R~ I . 4 R /a2 (TrerrE e e ; 2021)
o FHEAEE & TG FHX d Bl TR TS (a) TETE evreA fehel et i yHmTreAT T
TS FT. faftrs deon ARu@fawt 3 foen nfdw 3
® BR QD R: Birth Rate : T U1 ThI 5fd 1000 TS MY Seheart Met wwarer, fo=

BRI TS AT STehi<] &A1 4. B.R &
Natality Rate 81 eg 90T IT9LATd.

TeheT HUATAT 9 off TTog AT |0l fsheret
SRTOMT 378 TEUraTd.

oD.R:WW@WWIOOO@W@Hﬁﬂ (b) Wjamwwm%@w
RO SRbI S F. et e fve fafuih wefie wRdR
4. TEE REEA GRUT, 2000 WA WeHAUR! hiuTe Heheld B,
Sfewn wHEW o 7 (ST g uder ¢ 2021) T I
(a) E-yurEen vfdeys HrRICHT TTasEvl Ho. (1) & (a) (2) & (b)
(b) STAIETE Uldaueh HECATE Heh JHATAE(! (3) (a) 3ATIOT (b) (4) Tlerdehl AT
EZuUl Which of the following statement(s) is/are correct?
(c) B w GehedAT Tafeor, (a) Census is the whole process of gathering, collecting
(d) WA TSI STSqUUIT=a] Ta] Iueled] e and publishing statistics about the population of a
<. specific time of a particular country and its economic
TRl 3 and social aspects.
(1) (a) afor (b) (2) (b) oy (©) (b) The census is a compilation of various statistical
(3) (b), (c) 3T (d) (4) gd 9g1a s 3= data related to the population collected by the
Which of the following objectives are included in the government system for a specific purpose.
National Population Policy, 2000? Answer Options :
(a) Enforcing Female Foeticide Prevention Law. (1) Only (a) (2) Only (b)
(b) Strict enforcement of Child Marriage Prevention (3) (a)and (b) (4) None of the above
Law. TSR — I . 3
(c) Implementing the concept of small family. o 31efl 9l normallya'a_al'{? 37T,
(d) To provide maternity services at the village level. ® 3TN YTATHTE! Bh logic ST 3T <hiedl 343 Iehd.
Answer Options: o wRATE 2011 =t SoMT & 15 & TR 7 o gt
(1) (@) and (b) @) (b)and (c) o 1872 B AR I FS T TR T B T
(3) (b), (c) and (d) (4) All options are correct rEt.
T — T F. 4 o 1881 wTé frurrelt 1 SO,
® ITCUHIGH e : AT 9§ STRATES! THIfcHsh a1 § @ WiaAHm R aftrdien frerefigar smom=h gof
U] ST hi0l. TR IRITYd ST 3. EEIEHNIC AT RO
o WEIHHTHH ®ed : 2010 A TR T @ 2.1 TId | @ WRATd VAT HEEl, 1948 THA HEA 1951 BT 1¢
3T, SFRTOAT ST
o {EHHH B 1 2045 T BiehEEId WY ATE HL.
o T 3 AR 3fegd & Biel.

AT H G ¢ 100 Y& HHT 0L

MPSC -THE0TTeHe e » 107 4 TRaTHIN3e2021



/7 ()

6. WeicTiehl WRATA T9eM Hadt Faea hgreht wommar ( 8. 2011 T SFUATER HgRgr fom wwHmon & e
vl et ? (TrSeEan gE udien ¢ 2021) (TSerrET H&A udien ¢ 2021)
(a) ST Tl %d (b) . et Ha (1) 940 (2) 921
(c) . A *a (d) . M. wd (3) 929 (4) 1021
Rl W What is the sex ratio of Maharashtra as per the 2011
(1) ®h (a) (2) w® (b) census ?
(3) & (d) (4) Sierasht AT (1) 940 (2) 921
Who among the following established the first Birth 3) 929 (4) 1021
Control Centre in India ? TIERUT - I . 3
(a) Dr. R.D. Karve (b) Dr. Irawati Karve o YaN o Trhﬂ-( : 943 (2011 g8R).
(c) Dr. Anandi Karve (d) Dr. G.G. Karve o WERIgH fom Trﬁ;r{ - 020,
Answer Options : e WA 0-6 o5 Uik : 919.
(1) Only (a) (2) Only (b) o TEIER 0-6 fom Ui : 894,
(3) Only (d) (4) None of the above o T Trﬁ;r( 1000 g’{;q‘mﬁ feram=h "= g .
w -1 . 9. TIERAT A FHHAITEAR HATHA WIefier T HH
o LeN. T A 1+ Faeh e SHreft v . S, (FEOE 2011)  (TrHE T whEn : 2021)
e 1921 = T (a) WEE (b) Temre wew
Q%Wﬁ%ﬁ@%ﬂaaﬁ%@@?@ﬁ. ) T (d) m
e 1923 ‘Hadifed =m 3t fear’ g&ae fofea. .
o 1927 N IR ® HEIOE AR TE L (1) (), @), 6)@  (2) @), O, @), @
& I, (3) ©), @) @, @ (4) ©), b), @)
7. @Fﬁaﬁzﬁaﬁvﬁaﬁmmmmm Arrange the following States of India according to
EL ] Rud v w7 rankings in Literacy Rate. (census 2011)
(TIW’@ETE@‘T&&!T :2021) (a) Mabharashtra (b) Himachal Pradesh
(1) 1949 (2) 1974 (c) Delhi (d) Tamil Nadu
(3) 1978 (4) 1920 Answer Options :
Which of the following years was declared by the (1) (d),(c), (b), (a) (2) (c), (b), (d), (a)
United Nations as the World Population Year ? 3) (b), (c), (a), (d) 4) (c), (b), (), (d)
(1) 1949 (2) 1974 TERUT — 37 6. 4
() 1978 @ 1920 o (1) fidl, (2) fo s, (3) Wewy, (4) g
TR — ST 5. 2 Top Highest literate states of India ranking :
o SATfereh BiehEea faa : 11 I 1987 &1 T 5 3TesTr= 1 | 94%
ST IR heal, e 1989 TRT 11 b @IhE@ fed | | 5 | wardiy 91.85%
TRV ES el Sl .
o e e ; 1974, ; Eﬂq o
® 1974 g T BIhEEA oY UH TN o L
o 11 33 71 FrerEE i e @ o s wwr § LS| T 87.22%

B B BB ATEHS H H GO e 2011 = TRIUHIER AERIFTAIG TRUT e
FATd 2 SREET SUATETST. THANTER ufes 5 fieg

1 | 498 TR 89.9%

2 |gas WX 89.2%
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AT 88.4% @ () @ (i) (iv)
Following is work participation rate trend and
N ERI 88% . . .
differentials among youth in India (1981-2011).Match
FrEd 87.4% the following pairs.
10. SR U : (=@ & udter : 2021) Census Total Youth Work
(a) MH AT 3T TG0 Year (I) Participation (IT)
(b) YHIRAT HH HOITAT IUcTsy TAMTAT TRUET (a) 1981 () 424
JAferes 3Ed (b) 1991 (i) 36.9
(c) HTH HIUATH FT1 0T IAT 1A & S 7 Tzt (c) 2001 (iii) 47.1
(d) vEferd wefirea gt % 7 T (d) 2011 (iv) 44.6
T I Answer Options :
(1) % (b) (2) (a) 30T (b) @ () (© @
(3) (@), B () (4) (b),(c) 3 (d) (D) (i) () @) (@)
Unemployment means : 2) () (@) @v) (i)
(a) Not wanting to work (3) (i) (iv) (1) (ii)
(b) The workforce exceeds the number of work openings 4) (i) () (i) (iv)
(c) Not getting a job despite the desire and strength to TISRIT — S . 3
work 1981 — 47.1
(d) Not getting work at prevailing wage rates 1991 — 44.6
Answer Options : 2001 — 42.4
(1) Only (b) (2) (a)and (b) 2011 —> 36.9
(3) (a), (b) and (c) 4) (b), () and (d) o I HITS TR & &l HH A 3R HRO A
TIHHT — IW . 4 qTed AR,

o TN TEUS M HUATE F<01 STHTE! HH A fHesul. o U ¥ fYeum=h 4Iacl o A qHAE SIS JHI
o T 9 AMIHhgseT H&W 3TIE! THIE HIA TR aTed .
HTH HURTE 3281 TR USHTR 7 el Feursl SUSITHY ) @ Ph.D holder AT & =T level =1 fdwhmia &M
. OIS T G5B M S T Hes1es e ar
11. el WRATHS Jareriasiiel s TgWRT aXre et ST ST eV S, H1.

T (1981-2011). F0feT o2, dra Srenamar:  ( © T 10 S AT ST S, HSE B HEA ARG
(T e ude : 2021) TEUTh B8, TeU IY SIS JHI0 il 3.

SO TeRUT JEHTEN HIATAA 12. T 1835 HEA ... T AR Hed aTwR
= (I) TR (11) T ARECANITTE IS HOIN Ugat farenfaa
(a) 1981 (i) 424 el (TrSTEa gE udien : 2021)
(b) 1991 (i) 36.9 (1) wieeie (2) e
(c) 2001 (iii) 47.1 (3) HHL (4) #Tedq,
(d) 2011 (iv) 44.6 In 1835, ... developed population projection
TRl W method by using logistic curve.
@ () (o) (@) (1) Platelet (2) Quetelet
(1) @i) @) (1) (@v) (3) Shrofer (4) Malthus
() (i) (i) (iv) (ii) TITEAT — ST . 2
(3) (i) (v) (i) (i) o et I & Ueydt 1835 HE AT,
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1. YEraushl hiva e g gt gt quamet HEa

T T ? (TeEEE HE udte : 2021)

(1) B TAhIME & HLATT

(2) 5% EHATAT JOHNRINET STCTHEIH  HLE
hdTd

(3) mifed smEAT 3feE T1ew HOIESt BH Uh I9H
TR

(4) THMHS TAYicHsh JTAET TR &

‘Which of the following is not a strong reason why rights

should be guaranteed ?

(1) Rights sustain democracy

(2) Rights protect minorities from the tyranny of the
majority

(3) Rights are a definite way to ensure limited
government

(4) Rights create an atmosphere of competition

YR — IR . 4

° aﬁﬁqﬂlogicwg{m.

o 4 TS e 3 WA § A g gHI UATEST
gl SR Iredn.

o UU W .4 T ATRAS! I TAYTcHS STaTaol &
SICATHT ShTal TR Fehla aTg, Wehal.

® HR & HRD UWR Hefies el 99 € 319 logic STed
HiEa™=il JHad JERE Y= 3w fega smamn
AT T8 EU YT Sl

I

1. Wl 3@ ®oF @l — (At g6 TRem
(Fronfera) smEt, 2019) . (ToEEET HEa wler < 2021)
(1) a1 SEEH TS TGRSR S
T Tefee.
(2) HaT= =R =R Tfgeen SRbiar g

MPSC -TiuTTcH®S 997dd

NHRC ¥ 31e981 Tgud fgeh et Srset, 37eft aiqg
TR,

(3) 3= =ETeE =R Ufgdedn sdhen i
T OHdl g8 TR 3199y T 3w ol
g, et e IR,

(4) I HEEH T TFETHR AR LT o
T HRIHIS AT

Select the incorrect statement from the following - (The

Protection of Human Rights (amendment) Act, 2019)

(1) It increased the number of members of National
Human Rights Commission (NHRC).

(2) Itprovided that a person who has been a judge of the
Supreme Court is also made eligible to be appointed
as Chairperson of NHRC.

(3) It provided that a person who has been a judge of
High Court is also made eligible to be appointed as
Chairperson of State Human Rights Commission.

(4) Itincreased the term of Chairperson and members of

National Human Rights Commission.

TWERT — IR . 4
NHRC 1993 2019
= o 1 31emyy o | reAe
e | o 4 T oew o 5 Fh oew
® 4 UTig TeH (AfgeT rETE).

e 7 Ueig WeH SC,

ST, women minority
OBC, Child, disabled

® SC, ST, women
minority

commission =T

JH commision & LI,
® TpUl e : 9 ® UpUl e : 13
» ATGEA JATIS T ShHTeh 1 s 3R,

AAY | @ SC A AW | @ SC =TT
Tt TR, g foRan
e HC <1 Hartegd | =mmefi.
qe FEHiE. | e HC &1 FaTHEd

g =iy fehan
LRI
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» ITGEA IATIS T ShHTeh 2§ 3 SR 37TRd.
wEETS | @ 5 a¥ fher wueh | @ 3 =y fhen @Emh 70
70 a8 & ameh qof | 9¥ S et of B 4.
BIES d.

» A& G HATH 4 T FehiT 38,

» HEH g Tefaaer T, HH hoB! IR,
YAHURR | @ Bl Wehd. ® I3 Wehd.

2. O HYA/A ST — (TEE HHETIRR SATE0T)
(TrTr8ET HET udien : 2021)

(a) T T Hew= fHyhl U= Hewiw dfidi=n
TrERETER Tt grT Sheft A,

(b) 1eae 3T Tew 5 auten Hrenasiardt fhar 65
U EETd, ATH I et ITA AR Ug TR
AT,

Rl 3

(1) % (a) (2) ® (b)

(3) (a) @ (b) A= (4) FTdHT TR

Select the correct statement/s — (National Human

Rights Commission)

(a) The Chairperson and members are appointed by the
President on the recommendations of a five-member
committee.

(b) The Chairperson and members hold office for a term
of 5 years or until they attain the age of 65 years,
whichever is earlier.

Answer Options :

(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) None of the above
TEHT — IW . 4

® NHRC =T A& 9 TPI Hard.

o TyHdie A= RerefliqarE sreem=h = S
BT,

° ﬂTHﬁﬂﬁﬂTﬂH@:

LRI

T

BT TUTTA

Siepa it s

TSIEHT ITHHTIA
6. | forre vard.

o I HiWE 5 SH T 6 T AW W a @

T =,

N AW N -

TR IR 3 02021 P 134 4

)

o fammeaffi g damd H, AY TN TS T
TSIET eI Heel THam.

e WA % b w fia wre@dt g FhET I A=
AU 3 T/ 70 ¥ o et oS diwd O Ug gwe

HE IehdTd.

(3 MH smerel g 3ot

1. UERTY ST Wl g6 SNl Tedid Eieiietoeh!
SRIUTH e arereh aTa ?

(TrTrEET e udien : 2021)

(a) 6 |, 2001 TS AT AT O ITAT.
(b) =1, 3fde @ed g RN dfedd 3198 8.
(c) RN GEITer™ o A9 372,
(d) SHER 2021 ALY R G2 I RN Gfa

TEU[ FgRh! ShvETd T
TR IW
(1) (a), (b) 31 (d)  (2) (a), (c) 3T (d)
(3) (c) 3mfor (d) (4) =let @&l

Which of the following statements regarding

Maharashtra State Human Rights Commission are

correct?

(a) It was constituted on 6th March, 2001.

(b) Justice Arvind Sawant was the first Chairperson of
the Commission.

(¢) The Headquarters of the Commission is at Pune.

(d) InJanuary 2021, Tukaram Munde was appointed as
a Secretary of Commission.

Answer Options :

(1) (a), (b) and (d) (2) (a),(c)and (d)
(3) (c)and(d) (4) All of the above
TSRO — S sh. 1
Maharashtra HRC :

® T : 6 HE 2001 T
o T : | I + 2 TS
o IR &Iy § 4as I eI W ¢ I 3.
o IT RN FTadde 37e9e
1. 3wfae |rEa (2001 & 2002)
2. =1, 3Ed ®H (2002 o 2006)
3. <. fardfis = (2007 9 2012)
4. 1. D.R. SEEHY (2012 © 2017)
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RTST¥AT Heg URI&T 2021
PAPER - IV

1.

et SATETTeEn HewTd Wieitet faeam ferema =0
(TrTrEET e udien : 2021)

(a) 3TEHeT TEUH WRAT UaueH 18T,

(b) WRAT TPt IuTeTer= fHae .

(c) T TSI AT uTes TeghH Hifreme

7.

FhIHT hivrd /ot e/ am 3mea 2

(1) & (a) TR 37T

(2) & (b) SIS 38

(3) (a) 30T (b) SIS 3Tl

(4) (a) 30T (c) SR AT

Consider the following statements in the context of

NITI Aayog :

(a)

(b)

The Prime Minister of India is the Chairperson.
Vice-Chairperson is appointed by the President of
India.

(¢) Governing Council comprises the Chief Ministers of
all the States.

Which of the statements given above is/are correct ?

(1) Only (a) is correct

(2) Only (b) is correct

(3) (a) and (b) are correct .

(4) (a) and (c) are correct

WHHRUT - IR 5. 4

o Hidt smEm (National Institution for transforming

India) :

» YR B faehmE emor e et wee.

» 1 IER 2015 TS =9on

» TR : A4 fegt

» Y : UqUYUH

»  IUTEAE : A oS TYUA! S THT TN LT,
»  HEATH GO 9 I IR

» CEO : #ft Ty 3=R

» WW@WCMW%WW

ASTHAT 7T YR 4 ©2022

BUR

2.

ST TS IV TR HeAt Fiedt ?

(TrTrEET e uden : 2021)
(1) sft fagezn (2) sft umeEg T T
(3) off maAREw 3wETE (4) #ff S TR
Who formulated the People's Plan ?
(1) Shri Vishweshwaraya
(2) Shri Manvendra Nath Roy
(3) Shri Mannarayan Agarwal

(4) Shri Jayaprakash Narayan
TEIHRUT - IR B. 2

o 1934 frgdveren F : M. favavean
® 1934 FICCI =T :

» FICCI a1 Hoead N.R. TLhR I AIIAES &l
TE I gafae.

1938 HITW JI 2 1938 =1 ghgu sifEyHm

» AL : GATSER a9

» Y TER FRem aftdi=h wem s st s
T 1Y U, JAESS T8 8ld.

1944 TaE TSI 2 373 I =13, hosas! ATSHT

1944 Tl ST ¢ AI IS

1945 S TET : AHAGATY T

1950 FeTe JSHT 2 TR AT,

w| e e @ @

“ThiHeN Shige WA SRIUTCHT ShTRIShATIN /e Haeia
AR ? (TeeEE T udter : 2021)
(1) 3T TSR AT

(2) Semet TSR A1

(3) feram smfor sTetehrn forsprE s

(4) TehTfcteh TTHOT ferepT SRisHA

Which programme/scheme is related to '"Family Credit

Plan" ?

(1) Employment Assurarice Scheme

(2) Jawahar Employment Scheme
(3) Development of Women and Children Scheme
(4) Integrated Rural Development Programme

WA - IR . 4
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e IRDP: IS &A™ : 2 Oct 1980
o IV
»  TTHIOT YT TREHT SRS S SHRUATETS!
MR, FEhHl 0T TCRIH  Shran A
Il wed qigd Aok, I TR gUwen
!,
4. WICHUh! IV e SHeaner Suea™ am S
AT Sl T AT ?
(TrSerErET H&A udien : 2021)
(a) TTHrOT YaTEr ferega Shrevft gRa.
(b) E AT 100 T HEHHRHET TEhd 37T
(c) Bl AT 25 T TUsT THNA 9 75 T8 hgaehid
O shefl TR
(d) & ASHT & NG WETEA Hea™d! 2.
T I
(1) (a) 30T (c) frem s 3mRa .
(2) (b) AT (d) feream s 3mRa
(3) (a) TN (b) T SIS 3R
(4) (a), (b) AT (c) T SR 3MT&a

Which of the following statements are correct for 'Deen

Dayal Upadhyaya Gram Jyoti Yojana'?

(a) To provide power connection to rural India.

(b) This Yojana is sponsored 100 percent by the Central
Government.

(c) This Yojana is sponsored 25 percent by State
Governments and 75 percent by the Central
Government.

(d) This Yojana is only for BPL (Below Poverty Line)
families.

Answer Options :

(1) Statements (a) and (c) are correct

(2) Statements (b) and (d) are correct

(3) Statements (a) and (b) are correct

(4) Statements (a), (d) and (c) are correct

TR - I . 1
® DDU-GJY : 25 July 2015. 9T I

o 3fE:
» 100% T foerehdiento @ 24 x 7 dgEST™
He |1y
» HU IOEEl I FH SEEdl oere fher
famtor <o
» THAM HH HOIEE IS 7o HOr T we

MPSC -TiuTTcH®S 997Hd

A\ N

T sHaul.
» Wﬁgﬁw
» ﬁzﬁw%wéﬁwa@
» FAR TS : 75:25 (75% g, 25% TH)
» forsw T=a : 85:15 (85% g, 15% UsH)

. e TR o R a7

(TrTrEET & udien : 2021)
(a) =B SN I ST 318,
(b) =B S It & TE.
ERIRileETe
(1) (a) ST 318
(2) (b) SIS AR
(3) ()3T (b) ST TR
(4) sicTiehl VAR ST A&

Which of the following statements are correct?

(a) Disguised unemployment is in industrial sector.
(b) Disguised unemployment is in agricultural sector.
Answer Options :
(1) (a)is correct
(2) (b)is correct
(3) (a) and (b) are correct
(4) None of the above
TEIGRU - IR F. 2

o UTHA/QUl/ AT AT :

» SAfgHidd T YRaEReEn foweasieo g &
ST 3TTEesd.

» IR TG fegom=n el =ehl STagra stsR
JEA[. A1 Ugda fegg T Jom=n st gt
ST} TEUTdTd.

» AW HAfdih B HHTd cTeehal I 3.

6. SN Jo5el (TrSTEa gEA udten : 2021)
EqG| IS
(a) ENQ sl (i) g Icured
(b) gISA Shict (i) T IcTEH
(c) el ot (iii) HTEERY IcqTEH
(d) B (iv) dAfERET e
Rt I

@ () (0 (@
(1) (1) (@v) (ii)
(1) (1) (1) (@1v)
(iv) (i) (i) (i)
(1) (v) (i) (1)

(1
(2
(38
(4

~— — ~—
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(R) Terstt Waea TRUT EEHE]] (Total transaction)

OEIKIEIRH

o Fd equation : n = PK : Real balance quantity equation.

n = Total Currency in Circulation.

P = Price for Consumtion Unit.

K = Number of Consumtion Unit.

» & equation STehl EACE] &ﬂ?ﬂﬂ"dﬁ@ g4gmon IR,

147. WEURA WIEaTE g Wieiel TR aiom 31 :
(TrSeEa gEA udien ¢ 2021)
(a) TN IS G 916

(b) X M FAehTcfineleT a1

(c) Il ST a1@

q’*ﬁﬂﬁﬁi:
(1) (a) 3T (c)
(3) (a), (b) FAT (c)

Cost-push inflation is a result of the following situations

(2) (a) 3T (b)
(4) (b) 3T (c)

(a) Cost of production of industry rises

(b) Increase in taxes and customs duties

(¢) Increase in agricultural products

Answer Options :
(1) (a)and (c)
(3) (a), (b)and (c)

(2) (a)and (b)
(4) (b)and (c)

TEPRUT - IR B. 2
® TGAAIE & S ML Trehdl Ad.
J.3h | @ JIAGT THH! U | 31.3F | @ HRTUR Sreaurd
TS cost-push ITAT demand-pull
SO FEUAT. HTO FEUTAT.
(1) |3=fife depe (1) |@rrt E=id 9
(2) | 3Tg= 9rmE giaen | (2) | e w9 a1e
(3) | 3rqdt 3tenfies at@ | (3) | g Iredon
(4) | 3G T (4) | gatfeet
(5) | 3n=nfies o8 (5) | =Tost T
I IcaTed .
(6) | ot a1 (6) | ThR TAEh
(7) iwﬁn (7) | SrepEE 916
(8) | ffa (8) |waamstt
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148. SAARC it @eitel TE SETd 371ea ¢

(TrSTEEn gE udien ¢ 2021)
(a) TSI TCMAer SArehT=aT Aishfeh farepramen afor
TR - 3T HeATUTT FedTe <ol
(b) HTfEh STCHMNTAD &I T HT0.
(c) b TG AT forehre o,
TR ITR:
(1) (a) 3foT (b) ferermt =fer s
(2) (a) 3T (c) faem = 3mea
(3) (b) 3T (c) forarm @ 31rea
(4) (a), (b) 3T (c) T = 3R
Following are the main objectives of SAARC :
(a) To promote the socio-economic welfare and cultural
development of the people in the concerned region.
(b) To achieve the goal of collective self-reliance.
(c) To develop free regional trade.
Answer Options :
(1) Statements (a) and (b) are correct
(2) Statements (a) and (c) are correct
(3) Statements (b) and (c) are correct
(4) Statements (a), (b) and (c) are correct

WEIARUT - TR 5. 4

® SAARC :

South asian association for regional

cooperatoin.

»  TJMUAT : Dec 1985

» HaTsd : HIGHG

» T : 8 (fidehl, aW, WUS, WRA, HiGid,
TfehE™, STATET. )

» 2007 T JHIVRAH HIeha TG ST,

o T 3

1) <fear SRR Sreh Tuiiu™ URU 9 BieheheTol
e,

2) e aTe, TS foehm, Hiehfae fashm arem.

3) e 3R SewTd wEuiar fwior s,

4) Tefites Siadr ardid Seo

5) 1995 T |Teh ST SAPTA IR heaT AT HIRTAT
HIEAT & SR T ISa1.

149. AaWERE AOARR /= & /EE ..

(TS gE udten : 2021)
(a) TRUfRToTE ieaTe <0
(b) JAEMT Ufqae HLoATE Ted Hl
(c) SIS =TT G JaIel TieaTad ol
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ERICIICA N Sanitary and Phyto Sanitary measures deal with :
(1) (a) 30T (b) fae™ T Ra (a) Animal and plant health and safety

(2) (b) 3nfoT (c) faem™ I 3Ra (b) Food safety

(3) (a) 30T (c) faem oy 3mmea (¢) Social health and safety

(4) (a), (b) 3T (c) faem™ T RA Answer Options:

(1) Statements (a) and (b) are correct
(2) Statements (b) and (c) are correct
(3) Statements (a) and (c) are correct
(4) Statements (a), (b) and (c) are correct

(b) to help prevent crises - 3 _ & 1
(c) to promote growth by facilitating trade -
e WTO T 6 3MIREY 37Tad.

The International Monetary Fund’s functions are

(a) to promote stability

Answer Options :

(1) Statements (a) and (b) are correct 1) WTO TATIAT HTX
(2) Statements (b) and (c) are correct 2) GATT
(3) Statements (a) and (c) are correct 3) GATS
(4) Statements (a), (b) and (c) are correct 4) TRIPS
PR - IR B. 4 5) dertamer fam

6) SATIRYITET TS,

® IMF : 27 Dec, 1945 . o N
o IS GATT Haid gl T HIRE! ATET 372,

» "™ : 190 1) S
® FHH: "
» IMF HG& XM HaeRdiaie Hehe g HUAEmE! 2) Hl
W P | a%f 3) ARG gﬁ%aI S ESE

> il W frin s w o g () T PE
TrwEEl IMF fafay gemren, & geeien qea 5) 3 9 W
— 5 RO I a3 6) Sanitary and Phytosanitary measures agreement.
) i 8 IMF e Seore 7) Technical barier to trade agreement.

Tl . ® SPS : Sanitary and Phytosanitary measures
» UEE WA TTIATHE YR HEFH  (SAPs) » SPS®WTO He&I1 el (arat fohan wmoft smmr)
TEEUATETS T 2. anfor wrRrE el (FTerdt St fohar ) Suri=n
T e ﬁmﬁjﬁl w @ o
150. TETANSEh  (sanitary) oTuT  framer  wfaed % v, e , TGS ST
Muﬂw-zozl) > SPS JAR Sl AR AH TR HAG
N ' 3.
E:; ﬂ;&ﬁm 3 g » TR TATT a ST b ST 3TR.
oon
(c) WIS TR 9 gafegadn
Rl 3

(1) (a) TR0 (b) T Fra A1Ea
(2) (b) 3T () faem = e
(3) (a) TN (c) faam = smea
(4) (a), (b) AN (c) fem o e
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